12 A28 H(A)

=[5 NE 5T

9 B BRLOITEE mRE

9 B 55 % k&= mRE
10 B 45 9 WELDITEE mRE
11 B k&= MRAE
13 BF MEEDITEE mRE
13 B 30 & k= MRAE
14857 9 BRLOITEE mRE
16 B 25 & k= mRE
16 BF 35 7 k%= mRE
19 B 30 53 HEERRZELFERX SHBAAH
12 A 25 B (&)

=[5 HE 5T

8 B 30 & BREDITEE mRE

9 B 30 & HEEx %K Al %)

11 B k&= MRAE
12 B 45 93 k%= mRE
13 B% BREDITEE mRE

13 BF 30 73 SH2EEEEEARORRI— INEMRFmEY TRAE
KEEEBFE ZERS

16 B 655 5 E] TR
12 B 24 H(XK)

=] HNE BT
8 B 30 4 BRLEDITEE HEE
9 B 5 4 655 5 [E] TR

16 B xE mRAE




12 A 23 B (K)

=[5 NE 5T

8 B 55 & BREDITE mRE
98525 5 k&= MRAZE
9 B 45 43 BRLOITEE mRE
10 B k= mRE
10 B 30 & MEEDITEE MRAE
11 B 40 5 HAXS5 (BARIFHE) A
16 B 55 9 MEEDITEE mRE
12 A 22 8(K)

=[5 NE 5T

8 B 40 43 HERE SREE T REBE
10 B 20 43 MELDITEE mRE
14 B BRAMHMEIEEES 2[ERREBE
14 B 30 43 MELDITEE mRE
15 B 40 9 k= mRE
16 B ZEF 2020 BEFHIGHERERE MRAE
16 B 35 & LAAXZEREREASSERHIGHRE mRAE
17 B 45 & k= MRAE
12821 H(A)

=[5 NE 5T

8 B 55 & k%= mRE

9 B 30 & MEREARE 515

10 B 20 & mEshEs ERE
11 B 30 43 MELDITEE mRE
15 B ERERKEALMAEGERNESR HERE
15 B 30 43 MELDITEE mRE




12820 B8(H)

H R AE BT

10 B 30 & 2HZREBREMSBES *AETH

12 A 18 H (&)

H R AE BT

13 B BEATHAERERFTEEMFERIRMAFX mRAE

13 B 25 & HEEDITEHE mRE

15 B WEHESE AMESE 3BT
16 BF 40 9 HEEDITEHE mRE

12 A 17 B(K)

HE RE Bk

9B 154 HBEENDITEE mEE

9 B 30 9 WHEEES WEESE

9 B 45 4 HBEENDITEE mEE

15 B MAXA=REEXASEEZTES SREE T REE
16 B 30 & HEEDITEE mRE

12 A 16 B (JK)

=)
9 BF 30 3
10 ¥ 15 9
16 BF
17 B 30 73

NE

XHEEZER

HEEDITEE
BHEMREMNZIOVITRRE
HEEDITEE

sER
BEsE
mRE
FHETEF
mRE




12 A 15 8 (R)

H R AE B

8 BF 40 4> BESE 5REE T REE
9 8% 40 TR HEHE R ER S5REE T REE
10 B§ 55 & HEEDITEE mRE

11 B 35 9 XE mRE

13 B 50 & HEEDITEE mRE

12 B148(A)

H R AE B

8 B 50 4 kE mRE

9 B HBEENDITEE mRE

14 B 55 9 kE mRE

16 B HBEENDITEE mRE

12 A 13 H(A)

HE RE Bk

13 B 30 & Do TREREATEHEES Xt EE

12 A128(%)

H R AE B

9 B 30 4

RI59FRAILHIE

INAX A4T22—VF L




12 A 11 B(£)

=[5 NE 5

9 B 30 4 MEEARE %15

9 B 55 % FEZER HERE
13 B BT HERE
14 B 40 & k= mRE
15 B MEEDITEE MRAE
12 A 10 B (K)

=[5 NE 5
7H15 5 FEROXBRETRENRFALE %)

9 B¥ 30 MESARE EE

12 B 43 & MBREDITE mRE
13 B¥ Fﬁn?“zﬂz'gﬂn?t EE

15 B 35 & MEEDITELE mRE
15 B 40 & k= mRE
12 A 9 B(K)

=[5 ZES 5

8 B 55 & HEREDITE mRE

9 B¥ 30 7 MESARE EE

16 B 30 & MBEEDITEE mRE




12 A8 (k)

=15 ZES 5T

8 B 40 4 HERE SHEE T REE
9 B 30 4 MESARE E15

11 B BELDITEE mRE

11 BF 40 9 k= mRE

12 B 55 43 BELDITEE mRE

13 B A RERES HERE

14 B k% MRAE

15 B 30 4 BEEDITEE mRE

16 B¥ 30 4 EHARFTIOREFIERSLIGHRE MRAE

17 B BEMHEIOFT DI RBEEERN KRS 5EE T REE
12RA78(A)

=15 A& 5

8 B 50 43 FHEREERBIES—ToELE=— YHEREERRXE
9B 154 MELDITEE mRE

10 B kx= mRE

10 B¥ 40 53 HBEEDITEE mRE

13 B kx= MRAE
14855 % MELDITEE mRE
1286 H(RH)

=15 A& 5

14 B T ZER (AZTHR) HITH IEA ]




12 A4 8((£)

=[5 NE 5

10 B TR EHEERED 5HE T REBE
11 B 25 43 HELDITELE mRE

14 B 30 & k5 mRE

15 B 15 43 HELDITELE mRE

12 A 3 B (K)

=[5 RE 5T

8 B 45 & BREDITEE mRE

9 B§ HERE 5HE T REBE
15 B 45 43 HELDITELE mRE

12 A28 0K)

=[5 RE 5T

8 B 40 & BREDITEE mRE

12 B 30 & ShEfE R mE R
14 B 45 & PELDT—ILRRE BMERETE
16 B 40 43 HELDITEE mRE

16 BF 41 5 k%= mRE

12 A1 8(X)

=[5 NE 5

7815 % FEROXBRETRESNRHALK Ml

8 B 40 & BHERE MR E

9 B¥ 40 53 XE HEAE

10 B 5 47 HELDITEE mRE

13 B BRBEFEOVYRESR B L RE
14 8% EEERAESEFMIBEEX MRAZE

14 B 35 & BRLEDITEE mRE

15 BF 30 & k= MRAE



xE

16 BF 10



